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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Trend plot forP6AE_E1
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P6AE

BrE) | GEBAKE) | ERE(EH/AR) | EREE (F/R) [ XS R

08:35 340 160. 0 0.314 F|  FiHAe08:35 KREFEF (RA{LREIEE
09:25 340 160.0 0.314 & FiHfe09:25 KEFEF (KRFEERES)
10:15 340 160.0 0.314 5 FEAe10:15 KEIEFE CGRAMFESE)
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15:40 340 160.0 0.314 5| FHAe15:40 KEIEFE CGRAMFESE)
23t 3400.0 (100%) 1600. 0 32 3KEC: 2080.0, PH: 5.5

#HERECE (2153.0 vs 4420.0) 35
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P6AE_E1, Day=64 (2025-06-08)
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P6AE_E1, Day=63 (2025-06—07)

------------------------------------------------------------------------------------- L 6000
150 7y71, VO, FRV, ET = VI, VO, FVT, FVO, FRV, adjFRV, ET 5377
4530 —~
100 - 4000 ©
858 E
50 1800 Heas 1400 622- 2000 &
10 Warning: lcol [FVI',| "FVO’'] missing I73
-0
~ — ME f475
T maxM
+~
s - 45.0
= w
E L 42.5 =
b A H N [ NN . (N . F— S N S W TS g W R | A ..~ S I B A
& - 40.0
4
0.8
0.6
0.4
0.2
Warning: lcol ["WC1',  "WC2'] missing
2800 ®
optEC0=2600. 0, setECB=2080.0 ——  ECBx10% [t
2600 - ® ECC
2400 -
2200 -
------------------------- B OO —— R i—ﬁ X
2000 - o © ° ® L
6.5 4 —¢— | PHB*10% e ©¢ o o o o o ¢] ® e ® o e 4
: *10% “setPHB=5. 5 ° P )

o PHC

5.0
300 1 1 4
= Bylnit @D64 02:03: ET=1696 Fg=2400.0 Ro=699.0 - 3000
c 1 <
= 500 4 | & o e e e © =
: : —— T e
= /-/( -
=100 1 i 1 L 1000 '
o I 3
\ - 0

- YN
3007 0 ] 1 2 | 3 [ a5 6] 7 [ 89 JoJ1nJi12]@[14]15[16 [ 17 18] 19207212723
BE | B | 85 | B5 | BF | FE | B | BE | BF | FF | B | S | BF | FE | B | S | BF | RS | B [ BE | BF | RS | B | R | 3000

3 2
c 1 c
= 5004 ByEt @63 19:34: ET=1750 Fg=2265.0 Ro=nan o—o—o =
= - 2000 >
< & —o o —=o z
= 100- 1000 2
= 3
. ] 0

308— 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
% | % | % | ® | # | | | m | ® | m | m | m | ® [ ® | | m | m | | | m | m | % [ % | M | 3000

- D
c 1 c
()] ©
< 200 4 ByWoFyv @D64 02:03: ET=1622 Fg=2240.0 Ro=639.0 Py @ Py PA Py @ ® =
~ L ~N
\ ~—
S - 11
£ a -
= 100 ! - 1000
[ >
L 1 \ o

LOT=5—T 1 21 31415 161 7 8 ]9 Jio]i1]i2]13]al]im]w]i7]8]i9 20 2]2]2m5]°

0.6 | P | W | W | W | % | W | % | W | % | [ W | W | W | | W | % | W | | W || W % mm

0.6 -

0.4 -

0.2 -

0.0

1500 4 I N

| _obs
1000 - PPFD_obs

500 -




47.

46.

46.

45.

45.

44.

43.

43.

42.

42.

41.

42.

41.

41.

40.

40.

39.

39.

—o— ME
460 660 860 1600 12b0
m=590,m FV0=0
0_'—.— M_E
5
0 -
5
i
5
590 595 600
m=765,m FV0=0
—o— M_E
5
0 -
5
0 -
5
7é5 7%0 7%5
m=940,m FV0=0
01+ —@— ME
5
0 -
5
0 -
5
U . .
940 945 950

m=435, FV0=0

—o— ME
45 -
44
43
42
T T T
435 440 445
m=630,m FV0=0
—o— ME
47
46 -
45
44 -
T T T
630 635 640
m=810,m FV0=0

42.5 A

42.0 A

41.5 A

41.0 A

40.5 -

—o— ME

w
i

810 815 820

m=980,m FV0=0

44 -

43

42 -

41 A

-o— ME

e,
i

980 985 990

47.

47.

46.

46.

45.

45.

44.

41

40.5 -

40.0

39.5 -

39.0 A

38.5 -

47 A

46

45 ~

44 -

.0+

45 -

44 -

43 -

42 -

41

m=480, FV0=0
—— ME
480 485 490
m=670,m FV0=0

—o— M_E

i

T T
670 675 680

m=860,m FV0=0

—o— M_E

860 865 870

m=1160m FVO=0

—o— M_E

1160 1165 1170

41

41.

40.

40.

39.

39.

46.

46.

45.

45.

m=540, FV0=0
—e— ME
47 -
46 -
45 -
540 545 550
m=710,m FV0=0
—e— ME
46 -
45 -
44 -
43 B T T T
710 715 720
m=895,m FV0=0
.5 1
—e— ME
0 .
5 .
0 .
5 .
0 .
895 900 905
m=1205m FVO0=0
—e— ME
5 .
0 .
5 .
0 .

1205 1210 1215



46.

46.

46.

46.

46.

46.

46.

m=1240, FV0=0

50 A

45 ~

40 -

35 A

30 -

25 A

20 A

—0—

M_E

T
1240

T
1245

T
1250

m=1250, FV0=0 m=1275, FV0=0
1.0
46. 50 - M_E
0. 8 A
46. 45
0.6
46. 40
0.4 1
46. 35
0.2 A
Warning: col ['M_E'] missing
46. 30
T T T T T T 0-0 T T T T
1250 1252 1254 1256 1258 1260 0.0 0.2 0.4 0.6 0.8

.0



hour

00 N N o

1
1

15

105 -
:05

140

140

125

10:
10:
:10
140
12:
12:
13:
14:
14:
15:
145
16:

100

80

00

35 - 60

15
50
25
00
35
10

- 40

30

§_

B W R
B B S
S QZ)\\ %\%}

%
S



P6AE

BriE) | GEBAK @) | ERE(EH/R | EREE (F/R) [ XS SRR

07:05 333 160.0 0.314 5| {Ri%@07:05 Bz (FRAERSE)
07:40 333 160.0 0.314 = RRiB007:40 Bz (RFAEEE)
08:40 333 160. 0 0.314 E 1BRi&e08:40 Bzl (RAERE)
09:25 333 160.0 0.314 5| {Ri%e09:25 Bz (FRAERSE)
10:00 333 160.0 0.314 =l {Ri%@10:00 B3 (RAERSE)
10:35 333 160.0 0.314 = {RRi8010:35 Bz (RAEEE)
11:10 333 160.0 0.314 =l Rig011:10 B3 (GRAEESE)
11:40 333 160.0 0.314 =l {Rige11:40 B3 (RAERSE)
12:15 333 160.0 0.314 S {Rige12:15 B3 (REAERSE)
12:50 333 160. 0 0.314 E| {Rig012:50 B3h (RE{ERSE)
13:25 333 160.0 0.314 F BRige13:25 Bz CGRAERESE)
14:00 333 160.0 0.314 S| {Rige14:00 B3 (RAERSE)
14:35 333 160. 0 0.314 E BRige14:35 Bz (GRAERESE)
15:10 333 160.0 0.314 F BRige15:10 Bz CGRAERE)
15:45 333 160.0 0.314 = {Rig015:45 B3 (RAERSE)
16:30 333 160.0 0.314 E BRige16:30 Bz (GRAERESE)
2it]5328.0 (167%) 2560. 0 3203 KEC: 2080.0, PH: 5.5

AREHTERRA (0.91) , BEE

MEREHERE STHAEARS (296.0 : 163.0), AIREKREERE
BRIASERRIERE163. 0 ml.

FEERECE (2163.0 vs 4262.0) i3

LRGEEIPH (6.5) H5i&E@E (5.5) REKKA, BT,
LRGERIPH (6.5) SHRAVEEW (5.5) RERK, FRE.



P6AE_E1, Day=62 (2025-06-06)

150 1v1, v, FRV, ET = VI, VO, FVI, FVO, FRV, ad jFRV, ET 4530
L 4000
100 -
445
i 1900 551 1800 895_2000
700 Warning: lcol [FVI',| "FVO’'] missing 10
0 L 60
_ ( o vi — ME
I 300 - FRV maxM | 48
5 L 46
200 1 :
E o sz —————————f>+—-J4 NNt - ¥ . Ty
= 100 - ——— i — - 49
’ HERIIRENINEE A
1.0 40
U
0.8 -
0.6 -
0.4 -
0.2 -
Warning: lcol ["WC1',  "WC2'] missing
2800
optEC0=2600. 0, setECB=2080.0 —¢  ECB*10%
2200 - ® ECC
O S L T ST S O A s a mmaa o  aa
2000 1 L © o ® °
1900 -
6.5 - ¢ o o 000000 o oo A
optPH0=6. 5, setPHB=5.5 —>—  PHB*10%
® PHC
6.0 -
T T e e T U G i Pl
5.0 -
1
_, 3004 Byinit D64 02:03: ET=1877 Fg=2560.0 Ro=675.0 i
2 , L 3000
= I @ © @ ©
£ 200 - I e
T : /-/'/V @ e & © L 9000
~N
3 ' 1
£
= 100 - I 4 L 1000
o 1 \\\\\\\\\\‘\\
O—t:;;’£ itf ) 4 0
0 | 1 2 | 3] 4 ] 5| 6] 7] 81 9 1011 [12]13[14]15 ] 16 17 ] 18] 19 [ 20 21 | 22 | 23
o N 70 I 0 I I 0 I O
= 1
(“ - - — — —
o y0p | BYEt @D62 19:34: ET=1944 Fg=2400.0 Ro=nan | = oo 'o o o o
E - = 3=
J 1
: 111 ) |
100 - A I L 1000
o |
o e I
303' 0 | 1 21 314151617 18 ] o o[l ]iz]isa]@al[i5 6780 ]20]l2]2][2z]°
ST [z=m | w [w | w [ [ m [ ® [ | % [ [ w [ [ m | w5 [ | W | B 222225 (52] 8 |,
= 1
(“ - - — — —
© gop | BYWoFy 8D64 02:03: ET=1895 Fg=2560.0 Ro=674.0 = o—o—o—o—o—o
N 1 —p——— & 9 L 2000
< 1
3 ' 111 ]
£
= 100 - I i L 1000
o I
1.0 2 — 0
U170 [ 1 2 | 3| 4 ]| 5| 6 7] 81 9 1011 [12] 131415 ] 16 17 ] 18] 19 20 ] 21 | 22 | 23
0ol FE |B=| M | & | M | M | & | M | RE | | M | R | W | M | B | P& | BB | B | M |B% %% |85 B @
0.6 -
0.4 -
0.2 -
0.0
1500 < — | A
[ ] | _obs
1000 - —8— PPFD_obs
500 -
0

FRV (ml d-1)

cumET (ml/plant)

cumET (ml/plant)

cumET (ml/plant)



T T T
600 800 1000

m=605,m FV0=0

47 -

46

45 -

44 -

—&— M_E

GiO 6%5
m=750,n FV0=0

47.5

47.0

46.5 -

46.0

45.5

45.0 -

750 755 760

m=899,m FV0=0

47 -

46

45 -

44

—o— M_E

\
m

895 900 905

46.

46.

45.

45.

44.

44,

43.

47.

47.

46.

46.

45.

45.

44.

48.

47.

47.

46.

46.

45.

45.

m=455, FV0=0

45 -

44

43 A

42 4

M_E

T T
455 460 465

m=650,m FV0=0

—o— M_E

T T
650 655 660

m=785,m FV0=0

—&— M_E

i

785 790 795

m=939,m FV0=0

1 o

M_E

935 940 945

47.

47.

46.

46.

45.

45.

48.

47.

47.

46.

m=495, FV0=0
—e— ME
47 -
46 -
45 -
44 - T T T
495 500 505
m=690,m FV0=0
—o— ME
46 -
45 -
44 -
43 -
690 695 700
m=815,m FV0=0
54 —— ME
0 -
5 -
0 -
5 -
0 -
815 820 825
m=970,m FV0=0

f

m=555, FV0=0
—— ME
47 -
46 -
45 -
44
T T T
555 560 565
m=720,m FV0=0
—— ME
47 -
46
45 -
44 B T T T
720 725 730
m=855,m FV0=0
—— ME
47 -
46 -
45 -
44 B T T T
855 860 865
m=1005n FVO=0
—— ME
48.5
48.0
47.5
47.0 -
1005 1010 1015



hour

125
110
:55
135
:20
:00
140
140

100

80

- 60

- 40

§_

%

%y
%

6\
%

5

s
BN
4
%

K3

\ R
N N
s,
Q\z\ Q’.Qé'

2
N
L

&

%,
&

W ’@(26_.?
%

%

3,



P6AE

BfiE) | GEBAK Y | ERE (EAR/H) | ERERE (B/R) | XS R

06:30 327 160.0 0.314 = {Ri%@06:30 B (RAEZSE)
07:15 327 160. 0 0.314 E| {Rige07:15 B3h (RE{ERSE)
08:10 327 160.0 0.314 |Z=| 1Ri%e08:10 Bzl (KREEZEHSE)
09:00 327 160.0 0.314 FA| {Ri%@09:00 B (RAEEEE)
09:45 327 160.0 0.314 BA| {Ri%@09:45 Bz (RAEEE)
10:25 327 160.0 0.314 FA| {Ri%@10:25 Bzl (GRAEEE)
11:10 327 160.0 0.314 FA| 1BRi%@11:10 Bzh (kAEREE)
11:55 327 160.0 0.314 FA| 1Bzi%@11:55 Bzh (RAERSE)
12:35 327 160.0 0.314 FE| 1BRi&@12:35 Bzh (RAEREE)
13:20 327 160.0 0.314 |2 =| 1Ri%e13:20 B3 (REAZBE)
14:00 327 160.0 0.314 [Z=| 1BRige14:00 Bzh (REERESE)
14:40 327 160.0 0.314 (2 =| Bige14:40 Bzh (REEREER)
15:40 327 160.0 0.314 |2 =| 1Ri%e15:40 B3 (REAZEBRE)
23t 4251.0 (13%) 2080.0 3ZHKEC: 2080.0, PH: 5.5

Wk FEERRmA (0.91) , FRE

MEREHER 2 STHAE RS (301.0 : 157.0), AIREKREERE
BRIASEBRERE157.0 ml.

FEREIPH (6.68) 5i&FEPH (5.5) REKK, FHRE
FHEKRECE (2140.0 vs 4285.0) 35

LRGEBIPH (6.5) 5i&EME (5.5 REKK, BRE.
LOREBIPH (6.5) S5#EEVEN (5.5) REKK, BWE.



P6AE_E1, Day=61 (2025-06-05)

_____________________________________________________________________________________ 6000
150 1y, VeP¥RV, ET = VI, VO, FVI, FVO, FRV, ad jFRV, ET
4129
L 4000
100
2600 108
50 - 89 1900 581F 2000
33
Warning: lcol [FVI',| "FVO’'] missing 700
0 - L 60
_ ( o vi 4
T 300 A FRV - 48
t
©
2 200 A —46|.u|
- lm_—rr e -, T e e ttns, =
= "IN - i - 44
> 100
& HEEEIENIEEE NN .
- i 1 f f iR K N R R R R D
U
0.8 -
0.6 -
0.4
0.2 -
Warning: lcol ["WC1',  "WC2'] missing
2800
optEC0=2600. 0, setECB=2080. 0® —¢  ECB*10%
2200 - ® ® ECC
° L4 ®
A S L T e x—x—x—!—g—:—!—x—x—x—x—)'(—x—% ---------------------------
° ® o
2000 -
1900 -
° A
6.5 4 optPHO=6.5, setPHB=5.5 e © o 000 0 06 0 0 0 o0 o = PHB*10%
® PHC
6.0 -
T S B T S Sy e O R S ——
5.0
1
. Bylnit BD64 02:04: ET=1815 Fg=2400.0 Ro=656.0 ¢ 2000
45300— |
e L 2000
:é 200 A
E
~ 100 - - 1000
o
O T 11 2131215716178l 9Tw0]11li2]1311@a]mli6]i7]ie]m 20T 21]2]2]°
2 300 A5 5 5 | 2| B 5 B i FA [A A FA FA [A A FA 3] [A A FA FA [A A FA | 3000
g . . — _ _ 1
:§ ByEt @D61 19:28: ET=1866 Fg=2240.0 Ro=nan ® PY : PA ® ® PY 2000
5 :kﬂ & o
C : L 1000
— I
] 1
O T 11 2131215776117 18 loTw0]i1li2] @3 1@a]nlie]i7]ie]i9]20][21]22]°
2 300 A5 5 5 | 25| B 5 B g | 2= M A FA EREAREEAEEA EEAEEA N FA BH |Z=|Z=]| BB } 3000
c 1
%_ ByWoFv @D64 02:04: ET=1581 Fg=2080.0 Ro=540.0
£ 200 t A~ p—— S L
~N
C 1000
100 - -
5 B |
104 \v§ 0
T 0o [ 11 21 3] 4 5 7] 6] 71 81 9 1011121314/ 151617 18] 19720 [ 21 [ 22 | 23
0l B | R | M Bz | M | % | | 2= B | W | B | W (2222122122122 W | B W 2222 W
0.6 -
0.4
0.2 -
—_
[ ] | _obs
—@— PPFD obs
s- i =
&

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



T T
400 600 800

m=550,m FV0=0

48.0

47.

47.

46.

46.

—o— M_E

"

T T
550 555 560

m=7095,m FV0=0

48.5

48. 0

47.

47.

46.

46.

—o— M_E

mn
i

705 710 715

m=890,m FV0=0

48.5 -

48.0

47.

47.

46.

—o— M_E

b
it
it

890 895 900

48.

47.

47.

46.

46.

45.

48.

47.

47.

46.

46.

49.

48.

48.

47.

m=395, FV0=0

47 -

46

45 -

44 -

43 -

M_E

460 465
m=595,n FV0=0

T T
595 600 605

m=755,m FV0=0

—&— M_E

755 760 765

m=939,m FV0=0

-o— ME

935 940 945

m=435, FV0=0

48. 00 ~

47.75 ~

47. 50 ~

47. 25 ~

47. 00 ~

46. 75 A

48.

47.

47.

46.

46.

48.

48.

47.

47.

46.

46.

49.

48.

48.

47.

M_E

T T
435 440 445

m=630,m FV0=0

—0— ME

T T
630 635 640

m=800,m FV0=0

T —o—

M_E

800 805 810

m=980,m FV0=0

—o— M_E

980 985 990

48.

48.

47.

47.

46.

48.

48.

47.

47.

48.

47.

47.

46.

46.

45.

m=500, FV0=0

—o—

M_E

500

565 5%0
m=660,n FV0=0

—o—

M_E

T
660

6é5 6%0
m=850,n FV0=0

1 -

M_E

850

855 860




hour

125

:35
15

100

80

- 60

- 40

WA R WA
Fed a8 @& S
] VX X

'

§_

7
L
N
4
2

%

Ng
%

2

R
-



P6AE

BflE) | GEBRAK @) | ERE(EH/R | EREE (F/R) [ XS R

07:00 327 160.0 0.314 B 1Ri%e07:00 B (KFAERER)
07:40 327 160.0 0.314 = {Ri%e07:40 B (RFAERSE)
08:35 327 160. 0 0.314 E  1BRi&%e08:35 Bai (RAERE)
09:20 327 160.0 0.314 F BRi%e09:20 BE1 (RAERE)
10:00 327 160.0 0.314 =l {Ri%@10:00 B3 (RAERSE)
10:40 327 160. 0 0.314 E BRi%e10:40 Bz CGRAERESE)
11:15 327 160. 0 0.314 =l Rige11:15 Bah (GRAEESE)
11:50 327 160.0 0.314 =l RRiB011:50 Bz (REAEEE)
12:25 327 160.0 0.314 E BRige12:25 Bz (GRAERESE)
13:05 327 160.0 0.314 5| {Ri%e13:05 B3 (RAERSE)
13:50 327 160.0 0.314 = RRiB013:50 B (RFAEESE)
14:25 327 160. 0 0.314 E BRige14:25 Bz CGRAERESE)
15:00 327 160.0 0.314 El BRi&e15:00 Bz CGRAERSE)
15:35 327 160.0 0.314 = RRiB@15:35 B (RFAEESE)
16:15 327 160.0 0.314 =l RRiBe16:15 Bz (REAKEE)
2it] 4905.0 (15)%) 2400. 0 3203 KEC: 2080.0, PH: 5.5

Wk FEERRmA (0.91) , FRE

MEREHER 2 STHAEARS (291.0 : 160.0), AIREKREERE
BRIASEBRGERE160. 0 ml.

FEREIPH (6.62) 5i&FEPH (5.5) REKK, AT
#HEKECE (2160.0 vs 4168.0) i d 5

LRGEBIPH (6.7) 5i&EME (5.5 RERKX, BRE.
LOREBIPH (6.7) S5#EEVEN (5.5) REKK, BWE.



FRV (ml plant-1)

P6AE_E1, Day=60 (2025-06—04)

150 -

100 A

50 -

VI, V0, FRV, ET = VI, VO, FVI, FVO, FRV, ad jFRV, ET 5047
3572
2600 720
1900 597 803
33
173 Warning: lcol [FVI',| "FVO’'] missing

6000

- 4000

- 2000

0.6 -
0.4 1
0.2 A
Warning: lcol ["WC1',  "WC2'] missing
2800 3
optEC0=2600. 0, setECB=2080.0 > ECB#10% f*
2200 o ECC
G S LT ST rr S TP Sepers ::-AR--ae-1‘-9e—ee—-ee-ee-1f-1‘-ee—-;:-1p-ae-nr-9e-:L -------------------------
® ® o oo °
2000 A ) [ )
1900 +
e 6 6 0060 6 06 0O o [ ) [ ) o
6.5 optPH0=6.5, setPHB=5.5 L L e o —>—  PHB¥10%
o PHC
6.0
T S e e L2 L s L T T IR
5.0
1 . 4000
1}300 Bylnit @D64 02:04: ET=2046 Fg=2720.0 Ro=721.0
£ I L 3000
£ 200 1
< - 2000
>~
=
~ 100 -
= - 1000
01 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 F 8000
300 = = = = = = = = = = = = = = = = = = = = = = = =
o~ i g 5 i 5 5 5 i 5 5 5 A B 5 G A 5 B B G B B B G
< 1 - 3000
(“ - - — — —
3 900 - ByEt @D60 19:03: ET=2319 Fg=2720. 0 Ro=nan PR @ ? ® e @ ©
\ T
% 1 — |
E | II I
~ 100 -
= - 1000
01 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 = 8000
300 = = = = = = = = = = = = = = = = = = = = = = = =
o~ i g 5 i 5 5 5 i 5 5 5 A B 5 5 A B B B G B B B G
< 1 - 3000
=2 ByWoFv ©@D64 02:04: ET=1803 Fg=2400.0 Ro=662.0 4
£ 200 - I — & = & ©
£ : /l/( e—e—o—o [ 2000
- 1
0 : L I 1
— 100 i L 1000
Ll 1
1.0- 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 0
HHE HEE HEE Hi HHE HEE HEE Hi HHE HEE ES ES == E3 ES ES == E3 ES ES == E3 ES ES
0.8 4 M8 5 G A B 5 G A B 5 G A B 5 G A B 5 G A B 5 G A
0.6 -
0.4 1
0.2 A

—_—
o | _obs
—@— PPFD obs

3 4 «"\. 5 &No o W

FRV (ml d-1)

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



47.

46.

46.

45.

45.

44

46.

46.

45.

45.

44,

44,

46.

45.

45.

44,

44,

m=430, FV0=0

BT _o— MmE
46 - 41
4 .
44 3
42
42 4
e ME 41
T T T T T T T
400 600 800 1000 430 435 440
m=555,m FV0=0 m=585,m FV0=0
7 —o— MmE 47.01 —®— ME
5 -
46.5 -
0 -
5 46.0 -
0 -
45.5 -
5 - T T T T T T
555 560 565 585 590 595
m=695,m FV0=0 m=725,m FV0=0
5 4 46.5
—o— ME —e— ME
01 46.0 -
5 -
45.5 -
0 -
45.0 -
5 -
44.5 -
0 -
695 700 705 725 730 735
m=835,m FV0=0 m=880,m FV0=0
46.0 -
o] & ME —o— ME
45.5 -
5 - 45.0 -
44.5 -
0 -
44.0 -
5 -
43.5 -
01 43.0 -

840 845

880 885 890

46.

46.

45.

45.

44.

47.

46.

46.

45.

45.

44.

46.

45.

45.

44.

46.

46.

45.

45.

44,

m=465, FV0=0
—e— ME
5 -
0 -
5 -
o -
5 -
465 470 475
m=620,m FV0=0
0 —
—o— ME
5 -
0 4
5 -
0 4
5 -
620 625 630
m=755,m FV0=0
04 —8— ME
5 -
o -
5 -
755 760 765
m=915,m FV0=0
54 —@— ME
0 -
5 -
0 -
5 -

920 925

m=510, FV0=0
4.0 o wE
46.5 -
46.0 -
45.5 -
T T T
510 515 520
m=660,m FV0=0
46.57 o g
46.0 -
45.5 -
45.0 -
44.5 -
44.0 15 | |
660 665 670
m=795,m FV0=0
a0 & ME
45.5 -
45.0 -
44.5 -
44.0
795 800 805
m=945,m FV0=0
—e— ME
46. 75 -
46. 50 -
46. 25
46. 00 -
45. 75 -
45. 50 -

945 950 955




m=975, FV0=0

47. 25 A

47.00 A

46. 75

46. 50

46. 25

46. 00

—o—

M_E

975

T
980

T
985

m=1005, FV0=0
—e— ME
47.4
47.2
47.0 -
46. 8 -
46. 6 -
T T T
1005 1010 1015




